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QUESTION 1

Refer to the exhibit. 

Which networking requirement fulfills the connectivity between the Data Sites and the Witness node? 

A. Extended Data Site network 

B. vMotion network 

C. Direct Connect network 

D. Layer 3 network 

Correct Answer: D 
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Reference: https://storagehub.vmware.com/t/vmware-vsan/vsan-2-node-guide/network-designconsiderations-7/ 

 

QUESTION 2

What is the formula for determining the minimum number of vSAN hosts in a cluster necessary to support a Failures To
Tolerate (FTT) policy, where FTT=n? 

A. n+1 

B. n+2 

C. 2n+1 

D. 2n+2 

Correct Answer: C 

To tolerate n failures, you need 2n + 1 ESXi host in the vSAN cluster. Reference:
https://searchvmware.techtarget.com/answer/How-can-a-VM-storage-policy-improve-vSANcluster-redundancy 

 

QUESTION 3

vCenter reports a number of vSAN network alarms on a 2-node vSAN Direct Connect cluster. The test 

pings show irregularities in the ping results. 

Using vSAN Health service, which two checks should be used to identify the network root cause? (Choose 

two.) 

A. Physical disk operation health 

B. Network latency 

C. vSAN extended configuration 

D. vSAN disk balance 

E. vSAN basic unicast connectivity 

Correct Answer: AB 

Reference: https://vsan-essentials.gitbooks.io/vsan-6-2/content/chapter10.html 

 

QUESTION 4

The vSAN host memory needs to be replaced and the entire operation is expected to take 90-120 minutes. Which vSAN
advanced setting can be adjusted to avoid rebuild operations during the host hardware maintenance? 

A. Site Read Locality 
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B. Forced Provisioning 

C. Object Repair Timer 

D. Thin Swap 

Correct Answer: C 

 

QUESTION 5

Which two factors should be considered when planning usable vSAN datastore capacity? (Choose two.) 

A. Flash Read Cache Reservation percentage 

B. Failure tolerance method 

C. Stripe width 

D. IOPS limit for object 

E. Failures To Tolerate 

Correct Answer: BE 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/vsan-671-planning-deployment-guide.pdf 
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